REZEE4tEFENX00

4. 2dHVEERGER/NE2E_HREHFEIRE--BW: B1 (KFiEE:B1->B1)

PNA21-01[#£/E]: B1 SMEEH:.S2 (LB F5R: FAMR-95
SNERS T

SAMEEMEL(1) M2 SME1:3KIBITE+4.5%9.5cm T #iiE (S E A RE)

EFRT:
0.16*0.02 = 0.003 m2
LALE/VET: +0.003 = 0.003 m2

PNA21-01[#8[&]: B1 4 MEH#EH: W30 L& F5%: dLR-40

SMEREEETE:
%ﬂ‘éfﬁ_iﬁ_’4:(1)M8 SME13KEHTEHERBKEERA
R+t
[EEB(FRAZER)] 3.33 =3.330 m2
LA E/NET: +3.330 = 3.330 m2

PNA21-01[#8]: B1 4\ &84 W30 GLiERF3%: dLM-39
SMEEEETE:
%;if%fﬁ_r*ﬂf:m)ms SME1:3KIEITEHREAEKEERR
Rt
[EEIE(THALZiEH)]2.81=2.810m2
LLE/NEL: +2.810 = 2.810 m2

PNA21-01[#€/8]: B1 4\ M&EE 4 W30 LERF#%: dLM-38
SR fERE R
M%f#)f_ﬂ;ﬂf:m)ms ST 3KBITEHEABKEEEA
R~t:
[EEE(FHEEZER):] 0.99 = 0.990 m2
LL_E/vET: +0.990 = 0.990 m2

PNA21-01[#£/E]: B1 M EEH-W30 L& RF3%: dLm-37
S ERE M ET
7*%1%3*72!5’4:(1)% SE13KBITEHEABKEEEA
R+t
[EEIE(AHRIL:272):] 1.00 = 1.000 m2
LLE/EE: +1.000 = 1.000 m2

PNA2K1" -o1[$§]§]: B1M9H|%$%"1¢:W3cu) ,1ﬁ§%%}ﬁ: :IRISrEﬂ-zzm

SMEE G ETE:
%ﬂ%;ﬁ#ﬁi:(1)M8 SME13KEHTE+HERBKEERA
R+t
[EEB(FIRAIZEH):] 3.00 = 3.000 m2
LA E/NET: +3.000 = 3.000 m2

PNA21-01[#E]: B1 4\ &84 W30 LERF3%: dLM-23
SMEEEETE:
Mf%f*if_r*ﬂf:m)ms SME13KEITEHREABKEERR
Rt
[EEIE(FHAIZi2H2):] 1.06 = 1.060 m2
LLE/NEE: +1.060 = 1.060 m2

PNA21-01[#€/8]: B1 4 &84 W30 LB dbm-24
SNERS T E:

M‘é’-‘f#}f_ﬂ;ﬂr:m)ms SE13KRITEHERBKREEA
R~t:
[EEEAREZER):
LA E/NET: +1.130 =11

11.13=1.130 m2
30 m2
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PNA21-01[#£/Z]: B1 M EEH-W30 friERF3R: dbM-25
S ERE M ET
mg;wﬁw)ms SE13KRITEHERBKREEA
R~t:
[EEB(TFREZER)]1.20 = 1.200 m2
LLE/NEE: +1.200 = 1.200 m2

PNA21-01[#£/E]: B1 s & HE-W30 L& F3%: dbm-26
SN EIEHEETE:
%ﬂ‘éf*jf_fﬂf:(ﬂ M8 sV 1:3KRITE+HRABKEEHA
R+t
[EEE(AHFRZi8H2):] 1.26 = 1.260 m2
LL_E/NET: +1.260 = 1.260 m2

PNA21-01[#E]: B1 4\ &84 W30 fLiERF3%: dbm-27
SAERE T
m&;ﬁ*ﬁm)ms P13 RITEHEABKEEEA
Rt
[EEIE(AHALZiEH)] 1.33 =1.330 m2
L E/MET: +1.330 = 1.330 m2

PNA21-01[#£/8]: B1 4\ MEE 4 W30 IERF3%: dLM-28
SR fERE R
Mf&fﬁ_ﬂ;ﬂf:m)ms S 3K BITEHEARKEEEA
Rt
[EEE(FHEEZER)] 1.40 = 1.400 m2
LLE/NET: +1.400 = 1.400 m2

PNA21-01[#£[Z]: B1 M EEH- W30 L& RF5%: dbM-29
MBS E:
m&;ﬁ*ﬁwms SE13KBITEHEABKEEEA
R~t:
[EEE(AHRL8H2):] 1.46 = 1.460 m2
LL_E/NET: +1.460 = 1.460 m2

PNA2K1" -o1[$§]§]: B1M9$";1%1=%1¢:"W3:6 ,1&%@%}%: :|“|;|T=1-30”

SR EETE:
N%;E#z_r*ﬂf:m M8 #HME1:3KIBITE+HEAB/KEEWE
Rt
[EEE(ATHFRL8H):] 1.53 = 1.530 m2
LLE/NE: +1.530 = 1.530 m2

PNA21-01[#2[E]: B1 sMEHH:CS fLERF5R: dLR-7
SMEREHET A
SMBEAR(1) M1 SME1:3KIBHE+HEZER(A)
EFRT:
0.16*0.80 = 0.128 m2
LLE/VE: +0.128 = 0.128 m2

PNA21-01[#€/8]: B1 4\ &8 4G22 LB F5:: dbF-44
SNERS T E:
SMESTERE:(1) M1 SV 13K S+ 22 ()
EFR~F:
0.80*7.50 = 6.000 m2
LL_E/hEt: +6.000 = 6.000 m2

PNA21-01[#8/8]: B1 4\ & 4:CS B F 5% dtF-8
SRR
SEEMEE(1) M1 MBS S+l EH(8)
R~
0.16*1.00 = 0.160 m2
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LLE/MEt: +0.160 = 0.160 m2

PNA21-01[#£/8]: B1 4\ &8 4:CS1 IERF3%: LM-9
BRI ET
PMEEEATEL(1) M1 SR 37K R S+ B ()
EFRF:
0.25*0.30 = 0.075 m2
LLE/MEE: +0.075 = 0.075 m2

PNA21-01[#£[E]: B1 sMEREE:.G21 LB F4%: dt-45
BRI TE
PMEEATEL(1) M1 SRS 37K R S+ B B0 (8)
R~
0.80*7.50 = 6.000 m2
LLE/MEt: +6.000 = 6.000 m2

PNA21-01[#8[E]: B1 4M&EHEH:CS1 LiERF5%E: dLM-10
SMEE A ETE:
SAMEEHAE(1) M1 SME13KEM S+ R ZER(R7)
FRF:
0.25*0.30 = 0.075 m2
Ll E/INEH +0.075 = 0.075 m2

PNA21-01[#€/8]: B1 4\ & 4:S1 ALERFHE: LM-13
SMEEEETE:
SMUEEAEE(1) M1 4ME1:3KEH L+ R E ()
FRF:
0.16*3.30 = 0.528 m2
LLE/NEE: +0.528 = 0.528 m2

PNA21-01[#£[E]: B1 S\ E#EH:.CS1 fLERF5E: dbMm-14
S BRI ET
SEEMEE() M1 M E1: 3K+l EH(8)
R~
0.25*0.20 = 0.050 m2
LLE/EE: +0.050 = 0.050 m2

PNA2K1" -01 [éé]: B1M91~"#|%1‘%1¢:"88; ,1ﬁ§%§)ﬁ: :llgﬁ-1 5 )

SMEREEETE:
%ﬂ‘éf#ﬁi:(1)M1 SME1 3K+ B ZER(B)
R+t
0.50%1.50+[i](1.50+1.50)*0.00 = 0.750 m2
LLE/Et: +0.750 = 0.750 m2

PNA21-01[#2[E]: B1 sMEH#H.CS1 (LiEFF3R: dLFI-16
SMEREHETE
SMBEA (1) M1 SME1:3KIBHE+HEZER(A)
EFRT:
0.25%0.50 = 0.125 m2
LLE/NE: +0.125 = 0.125 m2

PNA21-01[#€/8]: B1 4\ & 4:G3 IERF3%: dLM-49
SNERS T E:
M%fﬁ_ﬂ;ﬂr:m)lvn P13 +H R B R (B)
R~t:
O.75*6.35+[l&§§](6.35+6.35)*0.00 =4.763 m2
LLE/NET: +4.763 = 4.763 m2

PNA21-01[#£[E]: B1 M E&E#EH:.CS M EF5: dLm-17
SNERS T

SMEBEMFL(1) M2 SME1:3KIBITE+4.5%9.5cm T #iiE (S E A RE)
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EFRT:
0.16*0.80 = 0.128 m2
KA E/MEE: +0.128 = 0.128 m2

PNA21-01[#£/8]: B1 4\ &E#E4:CS B F55: dbF-18
SR EREET
M%.Iﬁﬂj‘fﬂf:m)mz SV B 13K FTE+4.5%9.5cm T #ME (S EARE)
R~t:
0.16*7.50 = 1.200 m2
LLE/NEE: +1.200 = 1.200 m2

PNA21-01[#£/8]: B1 4\ & 4:CS L& F5%: dbM-19
BRI ETE
N%f#if_r*ﬂr:(ﬂw SREE1:37K BT +4.5+9.50m T il (& EE /4 R 1)
R+t
0.16*0.80 =0.128 m2
LL_E/NET: +0.128 = 0.128 m2

PNA21-01[#8]: B1 4\ E#EH:CS L& F5%: dbM-20
SMEEEETE:
M%Iﬁﬁ_r*ﬂf:m) M2 4iiE1:37KBFTE+4.5*9.5cm T #MB(E E AR IE)
Rt
0.16*7.50 = 1.200 m2
LLE/NEE: +1.200 = 1.200 m2

PNA21-01[#£/8]: B1 4\ &4E4:CS L& F55: dbm-21
SR fERE R
Mf&f#ﬁﬂf:m)mz H1E1:37KBATE+4.5%0. 5cm T #ME (S E AR E)
R~f:
0.16*0.80 =0.128 m2
LLE/NET: +0.128 = 0.128 m2

PNA21-01[#£[E]: B1 M E&EEH.C4 LB F5%: dLm-57
BB E:
%;if%fifﬁﬂf:m)w SME1:3KEM A+ BEER(B)
R~t:
[EEE(FHELLER)]2.11=2.110 m2
L E/NEE: +2.110 = 2.110 m2

PNA21-01[#[E]: B1 s iE#EH: W25 L& R 5% dLm-59
SMEEHETE:
SMEEAER(1) M1 SME1:3/K RIS+ SR B ()
FRF:
1.50*2.60 = 3.900 m2
LAE/NEE: +3.900 = 3.900 m2

PNA21-01[#2[E]: B1 sMEH#H4C3 & FF35k: AL[F-60
sMEREHET A
SMBEA (1) M1 SME1:3KIBHE+HBZER(A)
EFRT:
0.50*2.85 = 1.425 m2
LLE/NE: +1.425 = 1.425 m2

PNA21-01[#€/8]: B1 4\ i&#E4:C3 L& F55%: dbM-61
SNERS T E:
PMESTEAE:(1) M1 SV 13K S+ 22 ()
EFR~F:
0.80*3.10 =2.480 m2
LLE/NET: +2.480 = 2.480 m2

PNA21-01[#8/E]: B1 M & H-W25 (& 5% dbM-62
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SMEREEETE:
SUEEmAE:(1) M1 SME1SKER S+ EH (A7)
FRF:
6.35%2.35=14.923 m2
FAEE-tNE(30):
-[SD5-17]15.80*2.20+[4%3i£](5.80+2.20*2)*0.07 = -12.046 m2
LA E/NET: +14.923-12.046 = 2.877 m2

PNA21-01[#£[E]: B1 5B HE:.C2 fIEF5%: LM-65
SMEEEETE:
Mfiﬁﬁ*ﬂf:m)mz HE1:37KB4TE+4.5%0. 5cm T #ME (S E AR E)
R~T:
0.80*4.14 = 3.312 m2
LI E/NE: +3.312 = 3.312 m2

PNA21-01[#£/E]: B1 M EEH W25 (LB RF3R: dLFR-66
SR BRI
mg;wﬁw)mz SREE1:37K BT +4.5%0. 50m T I8 (2 EE A R 1)
R~t:
7.50*4.14 = 31.050 m2
LLE/NEE: +31.050 = 31.050 m2

PNA21-01[#8[Z]: B1 sMEEH:C1 (LERFE: dLM-67
SR
Nﬁf*ﬁ“” M2 SMYE1:3K BT +4.5%0. 5om T Hhis (& BE M IR B
R+t
0.80*4.14 = 3.312 m2
LAE/NEE: +3.312=3.312m2

PNA21-01[#[8]: B1 4ME#4:B16 KB R 5%: dLm-47
SEHEEEE
SR M1 SHB1LOK T ()

[(EEBE(THRANLER)] 3.67+U:2](3.78+1.69+5.30)*0.00 = 3.670 m2

KA E/Et: +3.670 = 3.670 m2

PNA21-01[#£[8]: B1 M iE#E4:.C4 IERFAR: dbm-11
SMEEEETE:
M%f#)f_ﬂ;ﬂr:m)m SME13KEM A+ ER(B)
R~t:
[EEE (A £:£/):] 0.00 = 0.000 m2
LLE/NEH: =0.000 m2

PNA21-01[#£[E]: B1 M EEE:.C4 LB F5%: dLF-46
BB EETE:
M%Iﬁifﬁﬂf:m)lvm SME1:3KEM A+ BEER(B)
R~t:
[EEE(AHLi28#):]6.10 = 6.100 m2
LL_E/NEE: +6.100 = 6.100 m2

PNA21-01[#8/E]: B1 4} i&H#4:.C5 (L EF3%: dbR-58
SR EETE:
%ﬂ‘éf#ﬁi:(nw SLHE1: 3R S+ B ()
R~t:
[EEE(ARHFRLi8H)]2.37 =2.370 m2
LL_E/NET: +2.370 = 2.370 m2

PNA21-01[#E]: B1 4\ &8 H W25 (LiERF3%E: LM-48
SMEEEETE:
%ﬂ*&f*ﬁizmm SME13KEM S+ B ER(H)
R+t
[EEE(THFALZER)]4.72=4.720 m2
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LA E/NGtE: +4.720 = 4.720 m2

PNA21-01[#£/8]: B1 4\ i&HE4:C8 B F 5% dbMl-12
BRI ET
M‘é’-‘f’fjfj‘fﬂf:(1)M1 SR 3IKGR I  HIE B R (B)
R~t:
[EEBE(FRENZER)]0.31 =0.310 m2
LLE/MEE: +0.310 = 0.310 m2

PNA21-01[#£/8]: B1 4\ &8 4:S1 MEFIR: Fam-70
BRI TE
%ﬂ’%‘f*ﬁ’i:(ﬂ M2 ME1:3K BT +4.5*0.50m T 8 (& E A R )
R+t
0.16*8.60 = 1.376 m2
LL_E/NET: +1.376 = 1.376 m2

PNA21-01[#2/E]: B1 4\ &1 452 fE 5% Falm-71
SMEEEETE:
M%Iﬁﬁ_r%’i:m) M8 SME13KIEITEHREABKEERHA
Rt
0.16*2.80 = 0.448 m2
LLE/NEL: +0.448 = 0.448 m2

PNA21-01[#£[Z]: B1 4ME#E4:.CG1 IEFEE: faF-73
SMEEEETE:
M%f#)f_ﬂ;ﬂf:m)mz HE1:37KB4TE+4.5%0. 5cm T #ME (S E AR E)
R~f:
0.60*0.30+[443£](0.30+0.30)*0.00 = 0.180 m2
LA E/NEH: +0.180 = 0.180 m2

PNA21-01[#£[E]: B1 /M EEE.CG1 LERF5R: FAM-75
S BRI ET
mz.;.;wﬁw)mz SRIE1 3K R AT +4.5%0. 5cm T M (& BE £ fR 1)
Rt
0.60*3.15+[Uki%](3.15+3.15)*0.00 = 1.890 m2
LLE/MEE: +1.890 = 1.890 m2

PNA21-01[#£/E]: B1 5\ i&#E 4S5 S E /5% FaF-87
SR EETE:
N%f*ﬁ“” M2 SME1:3K BT +4.5*0.50m T il (& EE A iR 1)
R~t:
0.16*0.77 = 0.123 m2
LL_E/NET: +0.123 =0.123 m2

PNA21-01[#2/E]: B1 4} & 4:S5 AL E 55k Fam-90
S AR
%;i%fﬁ_r*ﬂf:m)mz H1E1:37KBHTE+4.5%0. 5cm T #ME (S E AR E)
Rt
0.16*0.11 = 0.018 m2
LLE/NEE: +0.018 = 0.018 m2

PNA21-01[#€/8]: B1 4\ &8 4:S2 (B FHE: FEM-92
SR fERE SR
M%Eﬁ_ﬂ;ﬂr:m)mz HE1:37KBATE+4.5%0.5cm T #ME (S E AR E)
R~t:
0.16*0.39 = 0.062 m2
LL_E/VE: +0.062 = 0.062 m2

PNA21-01[#£/E]: B1 SMEEHE W30 frERF3R: dbm-31
SR BRI
PMEEAE(1) M8 SME1:3K BT E+HEABKEEHEE
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FR:
[E@EiE(ARALZEH):] 1.60 = 1.600 m2
LLE/NEL: +1.600 = 1.600 m2

PNA21-01[#£/8]: B1 4\ &1 4:C23 fIERFA%: dbM-51
SR EREET
M‘é’-‘f*ﬁ4:<1)M1 SR 3IKGR I  HIE B R (B)
R~t:
[EEB(FRENZER)]1.87 =1.870 m2
LLE/NEL: +1.870 = 1.870 m2

PNA21-01[#8[E]: B1 M ERE#H:-W25 &5 dLm-50
SR EETE:
N‘.&.Iﬁﬁ_rﬂ:m)w SME1:3KIEMA+HEZER(B)
Rt
[EEE(FHERLEH)] 11.64 = 11.640 m2
FAES-LNE(40):

-[W1-£71]2.00%0.60+[4ki%](2.00+0.60*2)*0.07-[W1-£1]2.00*0.60+[¥3£](2.00+0.60*2)*0.07 = -1.952 m2

LA E/NET: +11.640-1.952 = 9.688 m2

PNA21-01[#£/E]: B1 5 &8 H:.C24 (IERF55E: dtA-41
SMEEEETE:
%ﬂ*&f*ﬁizmm SME1 3K S+ B ZER(B)
Rt
[EEIE(FHALZiER)] 1.34 = 1.340 m2
LLE/NEE: +1.340 = 1.340 m2

PNA21-01[#€/8]: B1 4 &4 W30 (L& F55E: fm-72
SNERS T E:
M‘é—‘fﬁ_ﬂ;ﬂf:m)ms SE13KRITEHERBKREEA
R~t:
0.94*2.80 = 2.632 m2
LLE/NET: +2.632 = 2.632 m2

PNA21-01[#8[E]: B1 M fEHE4-W30 LB 5% FER-69
BB EETE:
a*ag;ﬁiij‘fﬂf:m)mz 1 4E1:37K BT E+4.5%9.5cm T #ME (S E AR E)
R~t:
[EEE(AHFEL:8H2):] 12.02 = 12.020 m2
LLE/NEE: +12.020 = 12.020 m2

PNA21-01[#8[E]: B1 s iEHEH4 SLE 55 fEm-102
SMEBREHETE:
m=éf$ir_r¥4:(1) M2 SME1:37KRITIE+4.5%0.5cm T Bl (S E A RE)
R~t:
[EEE(THALEHR):]0.79 =0.790 m2
LLE/NEE: +0.790 = 0.790 m2

PNA21-01[#E]: B1 4\ &8 H W25 (LERFR: LM-64
SMEEEETE:
%;i%f*jf_r*ﬂf:m) M2 4iiE1:37KBFTE+4.5*9.5cm T #MBE(E E AR IE)
Rt
[EEIE(ATREIZ:2H2):] 26.98 = 26.980 m2
LLE/NEL: +26.980 = 26.980 m2

PNA21-01[#£[2]: B1 M EEE:.C2 LB F5%: dLF-63
SMEREETE:
Mﬁﬁf*}f_ﬂ;ﬂr:m)mz HE1:37KBTE+4.5%0. 5cm T #ME (S E AR E)
R~t:
[EEE(FHELER)] 2.40 = 2.400 m2
LLE/NEE: +2.400 = 2.400 m2
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PNA21-01[#£/8]: B1 4\ i&1#E 44 LB F5;: dbF-68
S ERE M ET
m&;@*ﬁw)mz SREE1:37K BT +4.5%9.50m T I8 (2 EE /A R 1)
R~t:
[EEB(FREIZEH):] 10.86 = 10.860 m2
LLE/NET: +10.860 = 10.860 m2

PNA21-01[#£[E]: B1 M EEHE W25 (LB 5% PFEMR-96
SRR
%ﬂﬁiﬁ*ﬁﬂ:ﬁ)MZ SREE1:37K BT +4.5+9. 50m T s (2 EE /4 R 1)
R+t
[EEB(FIRAIZEH):] 0.00 = 0.000 m2
LL_E/NEt: =0.000 m2

PNA21-01[#£/E]: B1 5 iE#EHE:.G10 L& F5%: FaR-94
SMEEEEETE:
M%Iﬁﬁ_r*ﬂf:m) M2 4iiE1:37KBFTIE+4.5*9.5cm T #MB(E E AR IE)
Rt
[E@EIE(THAIZi2/#2):] 0.88 = 0.880 m2
LL_E/NEL: +0.880 = 0.880 m2

PNA21-01[#€/8]: B1 4\M&EE4:C12 IERF3E: fEM-88
SMEEEETE:
M%f#)f_ﬂ;ﬂf:m)mz HE1:37KB4TE+4.5%0. 5cm T #ME (S E AR E)
Rt
[EEE (A ZE/):] 0.30 = 0.300 m2
LLE/NEL: +0.300 = 0.300 m2

PNA21-01[#8[E]: B1 M &4 :C12 (LB 55%: FER-86
BB EETE:
M%.Iﬁiﬁj‘fﬂf:m)mz 1 4E1:37K BT E+4.5%9. 5cm T HME (S E AR E)
R~t:
[EEE(AHRL2H2):]0.15=0.150 m2
LLE/INET: +0.150 = 0.150 m2

PNA21-01[#8[Z]: B1 s ME#EH:G9 L& K5k FaMm-89
SHEEHETE:
Ng‘f*ﬁ”” M2 ShiE1:37KRITIE+4.5%0. 50m T HME (& B £ R 32)
R+t
[EEE(FHAIZiEM):] 2.80+[4452](6.00+5.99)*0.00 = 2.800 m2
LA_E/NEE: +2.800 = 2.800 m2

PNA21-01[#E]: B1 4\ &8 H W25 GLiERFE: #EM-85
SMEEEETE:
%;i%fﬁ_r*ﬂf:m)mz HE1:37KBHTE+4.5%0. 5cm T #ME (S E AR E)
Rt
[EEE(THALZiEH)]4.91=4.910 m2
LLE/NEE: +4.910 = 4.910 m2

PNA21-01[#£[2]: B1 S MEREE:.C2 (LB F5%: fEF-84
SMEEEETE:
Mﬁﬁf*}f_ﬂ;ﬂr:m)mz HE1:37KBTE+4.5%0.5cm T #ME (S E AR E)
R~t:
[EEFE(FHAZ:87)]0.19=0.190 m2
LA E/NEH: +0.190 = 0.190 m2

PNA21-01[#£[E]: B1 M EEE:.C2 LB F5%: FE[-83
SMEREEE:
m%;wﬁw)mz SV 3K BT +4.5%9.5cm T SME(S E £ R IE)
R~t:
[EEE(AHEL:i28#2):] 0.62 = 0.620 m2
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LLE/MEt: +0.620 = 0.620 m2

PNA21-01[#£/8]: B1 4\ &HE4:C2 I E F55: FaF-82
BRI ET
M%.Iﬁﬂj‘fﬂf:m)mz VB 13K FTE+4.5%9.5cm T #ME (S EARE)
R~t:
[EEBE(FREIZER):]0.20 = 0.200 m2
LLE/EE: +0.200 = 0.200 m2

PNA21-01[#£/E]: B1 s\ EEH-W25 (L& RF3%: FEM-80
BRI TE
N‘.&f*ﬁﬂf:(ﬂw SREE1:37K BT +4.5+9. 50m T s (& EE /4 R 1)
R+t
[EEB(FIRAIZER)]0.66 = 0.660 m2
LLE/NEt: +0.660 = 0.660 m2

PNA21-01[#2/E]: B1 4\ i&H#EE:.C1 LB F3E: FR-79
SMEEEETE:
M%Iﬁﬁ_r*ﬂf:m) M2 4iiE1:37KBFTE+4.5*9.5cm T #MB(E E AR IE)
Rt
[EEIE(FHALZ2H):]0.25 = 0.250 m2
LL_E/NEE: +0.250 = 0.250 m2

PNA21-01[#€/8]: B1 4\ &#E4:C1 LB F5;: FaR-78
SMEEEETE:
M%f#)f_ﬂ;ﬂf:m)mz HE1:37KB4TE+4.5%0. 5cm T #ME (S E AR E)
R~f:
[EEE (A £:£7):] 0.80 = 0.800 m2
LAk /NEL: +0.800 = 0.800 m2

PNA21-01[#£[E]: B1 sMEEE.C1 MEFHR: fEF-77
BB EETE:
M%I@Hj‘fﬂf:(ﬂw HHE1:3/K BT E+4.5%9.5cm T #iE (S EARE)
R~t:
[EEE(AHFRL:i2H2):]0.25 = 0.250 m2
LLE/INET: +0.250 = 0.250 m2

PNA21-01[#£/E]: B1 sMEEHE4 MEF5: fEF-76
SMEREEETE:
N%.Iﬁﬁ_r*ﬂf:m) M2 Sh4E1:37KBITE+4.59.5cm T BME (S B A EE)
R~t:
[EEE(ATHFRL8H)] 1.43=1.430 m2
LLE/NEE: +1.430 = 1.430 m2

PNA21-01[#E]: B1 4\ &8 HE W30 LERF: fEM-74
S AR
%;i%fﬁ_r*ﬂf:m)mz H1E1:37KBHTE+4.5%0. 5cm T #ME (S E AR E)
Rt
[EEIE(AHALi2#):]0.15=0.150 m2
LL_E/NEE: +0.150 = 0.150 m2

PNA21-01[#8[E]: B1 4ME#EH:G1 A& F3%: TEm-81
SMEE AR
Mﬁﬁf*}f_ﬂ;ﬂr:m)mz HE1:37KBATE+4.5%0.5cm T #ME (S E AR E)
R+t
[(EEE(THRAIZER):] 6.00+[4k:2](7.28+0.22+7.50)*0.00 = 6.000 m2
LL_E /Nt +6.000 = 6.000 m2

PNA21-01[#2/8]: B1 4\ &1 4:C10 CLiERFAR: FEM-91
SN B ETE:
SEEmMER(1) M2 SME1:3KIEITE+4.5*9.5cm T #E(SEARE)
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FR:
[E@EiE(ARAZ2#):]0.02 = 0.020 m2
LLE/NEE: +0.020 = 0.020 m2

PNA21-01[#£/E]: B1 5 MEEH:C10 fLiERF5R: FEMR-93
SR EREET
mg;wﬁw)mz SREE1:37K BT +4.5%9.50m T I8 (2 EE /A R 1)
R~t:
[EEBE(FREIZEH):] 0.08 = 0.080 m2
LLE/Et: +0.080 = 0.080 m2

PNA21-01[#2/8]: B1 4\ & 4:S2 SLEF3E: fam-97
BRI ETE
m%f@w) M8 #ME1:3KRITEHEREIKEEHE
R+t
0.16*0.29 = 0.046 m2
LL_E/NET: +0.046 = 0.046 m2

PNA21-01[#£/8]: B1 4\ &E#EH:S2 SLERF3%: #EM-99
SMEREEETE:
%ﬂ‘éf*ﬁ’i:m)MS SME13KEFTEHEARBKEERER
R+t
0.16*3.33 = 0.533 m2
LA E/NEF: +0.533 = 0.533 m2

PNA21-01[#&/B]: B1 SMEHEH:S2 (LB F5R: FaR-101
SMEEEETE:
%Hﬁiﬁﬁ_ﬂ;ﬂf:(ﬂMS SME13KEFTEHEAREBKEERR
R+t
0.16*1.51 =0.242 m2
LLE/NEE: +0.242 = 0.242 m2

PNA21-01[#&/8]: B1 4B W25 (L& F55%: FaM-100
SAERE M ET
9*#‘.%.3*72{4:(1)% SE13KBITEHEABKEEEA
R+t
[EEE(AHRL8H)]4.73=4.730 m2
LL_E/NET: +4.730 = 4.730 m2

PNA21-01[#8[E]: B1 &4 C11 ALEF5%: FE[-98
MBI ET R
N‘éf#ﬁi:m) M8 SME1:3KEITEHRA®RKEEME
R+t
0.29*0.94 = 0.273 m2
LAE/NEE: +0.273 = 0.273 m2

PNA21-01[#&[E]: B1 M EEH W30 (L& F5E: dbM-32
SMEEEETE:
Mf%f*if_r*ﬂf:m)ms SME13KEITEHREABKEERR
Rt
[EEIE(THAIZi2H):] 1.66 = 1.660 m2
LLE/NEL: +1.660 = 1.660 m2

PNA21-01[#£/Z]: B1 M & W30 L& F3%: dLM-33
SMEBEEETE:
M%.Iﬁﬁ_ﬂ;ﬂr:m)ms SME13KEHTEHEARBKEERR
R+t
[EEFE(FHAZEH)]1.73=1.730 m2
LLE/NEE: +1.730 = 1.730 m2

PNA21-01[#£[E]: B1 M fEHE4-W30 LB F 5% dLm-34
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SR EETE:
M‘éf*ﬂf_r*ﬂf:m)ms SME13KEHTEHEAREBKEERER
Rt
[EEIE(AHAIZi2H2):] 1.80 = 1.800 m2
LL_E/NEE: +1.800 = 1.800 m2

PNA21-01[#£/E]: B1 5B 4:W30 L& F55%: dtm-35
SR B
Mf&fﬁ%’i:mws S 3KBITEHEARKEEEA
Rt
[EEETHELER)] 1.86 = 1.860 m2
LLE/NET: +1.860 = 1.860 m2

PNA21-01[#£/E]: B1 M EEE-W30 L& F5%: dLM-36
S BRI ET
mg;wﬁw)ms SME13KRITEHERBKREEA
R~t:
[EEB(RENZER)]1.91=1.910 m2
LLE/MEE: +1.910 = 1.910 m2

PNA21-01[#8[Z]: B1 s ig#E#H:S1 L& F5%: dLm-4
SMEREEETE:
N%.Iﬁﬁ_r*ﬂf:m) M8 #\iE1:3/KIBITEHRABKEEREA
Rt
[EEE(AHFRLi2#):]0.21 =0.210 m2
Ll E/NEF: +0.210 = 0.210 m2

PNA21-01[#£/8]: B1 4\ E#EH:S1 AERFE: dLM-3
SMEEEETE:
Mf%fﬁ_r*ﬂf:m)ms SME1:3KIEITEHREAEKEERA
Rt
[E@EiE(FHAIZi2#2):10.10 = 0.100 m2
LL_E/NEE: +0.100 = 0.100 m2

PNA21-01[#€/8]: B1 4\ & 4:S1 A ERFE: dLM-2
SMEEEETE:
M‘Efﬁ_ﬂ;ﬂf:m)ms SME1:3KEFTEHREARE/KEERA
R~t:
[EEE(FHEE££E/):]0.02 = 0.020 m2
LL_E/hEE: +0.020 = 0.020 m2

PNA21-01[#£/8]: B1 4\ &8 4:S1 MERFR: dLm-1
SMEREEE:
a*;i%;wxj‘f*m) M8 shiE1:3/KBITE+HEABKEREA
R~t:
[EEE(AHR%:2#2):]0.01 =0.010 m2
LL_E/NEF: +0.010 = 0.010 m2

PNA21-01[#[E]: B1 s iE#EH:W25 L& R dLm-56
SMEEHETE:
SMEEFER(1) M1 SME 137K R A+ R B ()

FRF:
7.50%2.30 = 17.250 m2

PIES- LD ZI(30):
-[SD6-171]7.50%2.30+[1&:£](7.50+2.30*2)*0.07 = -16.403 m2
LA _E/NEE: +17.250-16.403 = 0.847 m2

PNA21-01[#2[E]: B1 4} iEH#E4E:.C22 L& F5E: dLM-55
SMEEEETE:
%ﬂ*&f*ﬁizmm SME13KEM S+ B ER(H)
R+t
[EEIE(THFALZi2H2):] 4.99 = 4.990 m2
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RAE /Gt +4.990 = 4.990 m2

PNA21-01[#£/E]: B1 s MEEH W25 (LiERF5R: dtM-54
BRI ET
M%Imﬁw)w SR 3IKGR I  HIE B R (B)
R~t:
[EEB(FREIZER)] 15.84 = 15.840 m2
P ES- Y (30):

-[SD7-47]]5.00*0.60+[#i£](5.00+0.60*2)*0.07 = -2.566 m2

LLE/NVET: +15.840-2.566 = 13.274 m2

PNA21-01[#£/E]: B1 s\ E&EEH:C23 (LiERF5%: dbMm-53
SMEE A E:
m&.;mﬁ#mm SNIE1 3K S+t BB (B)
Rt
[EEE(FHFRLi8H2):]2.09 = 2.090 m2
LLE/NET: +2.090 = 2.090 m2

PNA21-01[#£/8]: B1 4\ &84 W25 (&R dbm-52
SMEEEETE:
%;I%’-‘Iﬁﬁ_r*ﬂf:m)m SME1 KM S+ B ZER(B)
Rt
[EEIE(FRANLZ2H2):] 13.74 = 13.740 m2
FIE-E0 2 (30):

-[SD7-41]5.00*0.60+[¥i£](5.00+0.60*2)*0.07 = -2.566 m2

KL E/NE: +13.740-2.566 = 11.174 m2

PNA21-01[#€/8]: B1 4\ & 4:CS B F5E: dbF-5
SNERS T E:
SMEEAEL(1) M1 SMEB1:37KGR I S+ BB (S)
R~
0.16*0.65=0.104 m2
LLE/NET: +0.104 = 0.104 m2

PNA21-01[#£E]: B1 S iE#E4:.G23 (LEFHR: dbm-42
SMERBHETE:
SEEMEE() M1 MBS S+l EH(8)
FRF:
0.80*7.50 = 6.000 m2
LAk /NEE: +6.000 = 6.000 m2

PNA21-01[#Z]: B1 s i&#E4:.CS HMERF5%: dLM-6
SMEEHETE:
SMEEREL(1) M1 S 13K S+ S ()
FRF:
0.16*0.80 = 0.128 m2
LAE/NET: +0.128 = 0.128 m2

PNA21-01[#2/&]: B1 s Mi&EEH:G23 (L EF4%: dLm-43
SMEREHET A
SMBEAR(1) M1 SME1:3KIBH L +HB ZEH(A)
EFRT:
0.80*7.50 = 6.000 m2
LL_E Ve +6.000 = 6.000 m2
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